
(E) Breton Numerals (1/1) [Solution] 

E1.  
 

a. pevar-ugent ÷ pemp = c’hwezek     (80 ÷ 5 = 16)  

b. pemp ha hanter kant − daouzek = tri ha daou-ugent   (55 − 12 = 43)  

c. nav warn ugent + pevarzek = tri ha daou-ugent   (29 + 14 = 43)  

d. kant ÷ ugent = pemp       (100 ÷ 20 = 5)  

 

E2. 

 

(b) daoulagad  

Some languages have “dual”-style plurals for objects which occur in nature in pairs (such as eyes, ears, etc.), 

and thus the plural for “eyes” in Breton contains the element daou (2).  

 

 

E3.  
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